Practice Functions Test
1. Which relation below is a function?

Q-6
A

-o-Bl-

0
1
8
27
x y
0 0
1 | 4
2 8
3 4




2. Which linear graph represents the values in the table below?
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3. Which chart represents a function?
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4. In which table is a function of x?
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5. Which of the following equations represents a
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6. Which of the following relations imction?
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A {(0.1), (1.1, 2.1). GB. 1)} C. {(0.0), 3.4). (5.6). (8.9)}

(o, 1), 0.2), (0.3). (0,4} D. {(0.0), 2.2). (4.4). (6.6)}



7. Ronny’s Carpet Cleaning uses the equation y =@( + $22.50 to
calculate the total cost, y, to clean carpet for x number of hours.
Juan’s Carpet Cleaning uses the table below to calculate the total

cost.
Juan’s Carpet Cleaning ﬂ—— (5'6
-l
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Number of Total Cost
Hours (x) o) q
1 $38.50
‘\1‘5 $65.50 Q 2 lg. Do

3
6 $106.00
8

$133.00 —f)}_’oéo/
Which company charges Iesss'g£ &ur, and by how much? “ \.50

A. Ronny’s Carpet Cleaning charges $2.50 less per hour.

|50
uan’s Carpet Cleaning charges mless per hour.

C. Ronny'’s Carpet Cleaning charges $1.50 less per hour.




8. The table and graph below represent two different functions.
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What is the etween the glopasyof the two function'i
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A 4 B. 3 C.2



9. Jenna charges $25 to babysit one child. and $5 for each

additional child. Tyler's b

below.
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How much more does Tyler charge to babysit one child than
Jenna charges to babysit one child?

A $4

B. $5

C. $6



10. Art classes at Studio A cost $15 per class, plus a one-time fee of
$20. The following functions represent the total cost, y, of
taking x art classes at four other studios. Which function

represents the studio with greater than Studio

o 3.:[5)(.420

Ay =12¢x + 25 C.y

B.y =14x +11 Q_}ﬁx+12>

15 + 14
=




